(milling) $ » (scalar or dob
product) » (vector or cross product)
(ordinary derivative of vector) »:
« »
3.1 »
» » Ay f Iy
Asfi » » », A 0
(cosine) A ¥ 0
3.1
B
A
3.1 A B 0
Ao |Al 101 cose (3.1)

0<0 <«



3.2 «

« A » ! AXO0 »
C « A 8
(sine) ». A »8 C »
A »8 Alg »C » (right
hand triple of vectors) 3.2

3.2 « ! A » 8§
AXS8 |Al 181 0 sine (3.2)
0<o0 < » a A » 8
Al 8§ »
3.3
") % 8()
] p(X.,y,2) XYZ
Af - [x(s)As)-x( )]0 » [y()A3)-y(3)33 + Cz( )as)~z( )]E (3+3)
AS AS AS AS
1m Af »:

-0 AS



n(x,y,2) 3.3

d i + dy3 + dR (s.4)
dFs) ds O}i% ds -
Z
‘P
e S\ af(s)
r(s)
F(stas)
Y
X
3.3 p(s>
oo XY t
dp = dxl + d :
drs) ds 33 b)
A0 )*
{ -
», f ) (
1 »o»
».
]} " »,

3 (Hall et al.



1970)"  f©  « k (chord)

3.4 (X5y8) 1 k1 k
kilk
(X5,y5) KW k
kOk
(Xel’yel)' X 02Y 027 L 51—
1, r .k (X5,y5)  <xely6l)  k (x5y5)
(x62,y62) 9
(M1 @1 (xh2,yb2) 2 11 k12
1 1Tk
I'j k1?2
(xc,yc) <x61,y61), (x5y k
(X0,,yD 3

? ! m yel- yg

X
m ? \ k xe:Xg*0 ?
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| = - (XGL-*> = y1 (.7)

yel -y bl xc

\ v
yel-ys * 0 Xbl-Xc 0

m o= -w02-V = y2-y (.9

ye2 - yb X 2 ~XC

Ifitm  ye2-ys * o xb2~*c ' 0 (.7) (.8)

* = mixbl ~ yba -";‘2 +yh2 (3,0)

Vo = Mg - Xq) +¥y = ol - x4y (10

» « |

EXF=2C(xelxs)H(yel-y5)3 X c(xc-xh1) (yc-ybl>
= ¢-(xc“xbl)(yerys) + (xelx )(yc'ybinc (3. )
0 X = C(XG-xs)l+(ye2-y5) X C(xc-xh2) (yc-yh2)
» C-(xc-xh2)(ye2-ys) * («02-X8)<yc-yh2) E <3.12)
« (.4) (.11)

- (xc-xh1) (ye L-ys) 4 («01-*8)(yc-ybI> <0 (3.13)

(.12
“xcUxh2><ye2 ys> + Ae2~X )(ycTy 2> > ( *14>
3 (.13 (.14) »
» »



v e . o el Ld Ll J. »> UJ. » »
ﬂ1tnaunun11utnﬂgunauaznw1unnn1on1ﬂn1ai1ununna11uﬁ11enu

<< B

() MIUMAN (0<B<N/2) (1) uuthu (R/2<0<m) (A uunan (R<B<2K)

3-5 »:

3-5 fcmn

».

».

| normal line

(xy) 2



* ikl + A
X Hé(l + & 0.15)
* (X,Y) (B,b)
5 »
0 = (ax)! 1 (b-y)3 (.16)
« « 0 = (b-xM (" (b-y)J 0.17)
ekt + (0]
1
Xeo = (dxI +dy3) . (a-x)t + (b-yn » 0
(ds dg) A%a-xf“ + Eb-y)//)"
= S *1
3 x - (b y)g& (3*10)
0. 10) |«
(x,y) 5
»,
R - DC(a-x)! jb-y)JB . 0-19)
2 [(0o-x)a + (b-y)a
X,| |
». AR > » »o» KXR > ()
» »: AR < »: AR <0




(3.19)
b <X,y>
(3.19) b
b »
» ) »
(3.15) » (3.19)
» b
*
XX = (dxI +dy3) XDC(a-x)!  (b-y)33
ds  ds 2 [(tt-x)a 4 (b-y)a
- D (b-y)dx - (a-x)dylj;
2 [(a-x)3 + (b-yga ds ds
» (b-y)dx - (a-x)djr [ 0 »
ds ds
(b-y)dx - (a-x)djr > 0 b b b
ds ds
? b b 9
(b--y)dx - (a-x)djr < 0 »: »:
ds ds
? ». ». i 3
b ? b
(3.19) b (3.20)
3*6 bW
b § b bl
b ? ?
1 ? bM

23

(x,y)
3.6

».

(3-20)

(3.10).
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y = mx-mxpl+yrl = mx4b (.25)

m=y2-yl. b = -nwpldyrl
¥ ¥

».
(x -V 3+<-yc)3 = R+r)a = Ra  (3.26)

R 1 R =R4r (3.25) »
0.26)

(x - XC)a 4 ¢(mx 4 h) - yC]a = R'a

X - X 4 xca 4 (mxdh)a - 2yc<mxdb) 4 yca - R,a = ¢
(14ma)xa 4 2Cm(b-yc) - xc3x + xca 4 (b-yc)a - Ra = g
K=b-ylt »
xa 4 2(mK-x )x 4 xcadka-R>a = 0 0.27)
14m 14 a
. 0.27) (quadratic form)
X = xcmK 4 /(mK-xc)a - xcadka~R
Hma  1(14ma)a |In>a
X = XxcmK 4 JR'a(14 a) - (mxc *K)a (3.20)

ldma y (14ma)a

y o 0.25)  0.26)



(xrl,yrl), (xr2,yr2) '

Mo« ( (3.10),(3.19) uat (3.20))
D 10 1 Li 12
|1 "2 1 if " 12
(xt.yt) 3.0
' L1 * 12

X
11

. 321
b K

2

X-X =0, xt-Xi=0, x3-%*=*0 xt - xr2 [0
(3.21) (3.22)

b4
bk

o
I



Mxrl gk a2 yr2 0.23)
1 2
Voo LomOe %)t Y m(xt - xr2} cyr2 0:24)

3.6.2
(xrLyrd), (xr2,yr2) $
11 » 1 ([ 0.18), 0.19)
0.20))
[
11 11

3.9 11

1



363 1t

(xpIyri}» <*r2»Vp2>

1 ¥ 2 ( »
(3.20))
]
'}
2
(xpl,ypl> <xp2,yp2) 2
N '1 2
R = (xrrxel)a + (yrryci)s3
R2* = (xr2~*c2)a + (yr2‘yc2>a
1) » " 2 2

(3.18),

(3.19)

(3-29)
(3>30)

27



hor. line G

hor. line I
~ o
=t
X b
3.11 [ 2
" [ 3.11
@a = = \(xcl—xc2)a+(yc1—:yc2)a (3-31)

I 1 CH=hano = <ycr ycz)/(xc rxcz)
0 = Lan  [ycl~yc2*" xc 1-Xc2*
3D xcl-xc2 tO liat GFC = IIFC = 90*

GF = B = (Rj3- Ra + ba)i2b



»

(x2,y2)

GE

xpl

Xp2

e

Lan * (c/a)
=P-0
= P+0

= Xc¢l + RjCosOC*
= Vel + RjC0s Qg
= Xcl + RjcosOCyg

= Vel + RjeosOCq

L
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